
WRITING FRACTIONS

Which dance did the
chicken refuse to do?

What To Do
Write the fractions that correspond to the words below. 

Match each fraction to a letter in the Key. Then write the letter in the 
space above its problem number to find the answer to the riddle.

NAME DATE

Riddle 4

Five-sixths = __________

Seven-elevenths = _________

Nine-sixteenths = __________

Five-eighths = __________

Seven-ninths = __________

7/13  . . . . . . . . . . P

5/13 . . . . . . . . . . K

5/8  . . . . . . . . . . . T

9/16 . . . . . . . . . . H

1/4 . . . . . . . . . . . C

7/11  . . . . . . . . . . R

8/19  . . . . . . . . . . F

5/7  . . . . . . . . . . . L

5/14  . . . . . . . . . . T

12/13 . . . . . . . . . O

5/6 . . . . . . . . . . . E

6/15 . . . . . . . . . . O

7/8 . . . . . . . . . . . A

5/12 . . . . . . . . . . X

7/9  . . . . . . . . . . . T
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Five-fourteenths = __________

Five-twelfths = __________

Twelve-thirteenths = __________

Eight-nineteenths = __________

Six-fifteenths = __________

8

___ ___ ___    ___ ___ ___  –  ___ ___ ___ ___
6 3 1 9 10 7 5 2 8 4

Riddle Answer
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